~
.
>4

H

y

m&ES E-02

X=-135000. 000
Y= -41800. 000

X=-134700. 000
Y= -41800. 000

Y

—.

P s

&

. N
1 “rloﬁuo §

AR

n 910

(&)

(D)

..
X=-135000. 000 X=-135000. 000
Y= -42000. 000 Y= -41800. 000

SHM4E3 ARE

KA TKEEERK

IHETSE

y

Om 12.5m

ERYFET ., 1Y HM

25m 37.5m 50m

RHEZTO>TTRSLY,

D-01{D-02|D-03

F-01|F-02|F-03

% |
=

di
R
)

fl,

INOEAFL

ael [11 11|

Y = Al

©
:

O~4 =5 AFl

©
A
P
@®

H~65 Al

Bl

8= Afl

95 A4l

1A

(] |B2~42A%

BRAAFL

R AL

mIEAFL

AL

o
S

Mk ZE=E

A AT

MAFI3IHO

MAFLA50

BisE

A~KE AT

N s

Hro

Fru I

HFz— A3,

=
@« |—|A|E : (=20 X|[CD 0RO : |0

<Mt - 8

o
al

AR

xRk

18 i35 g 7K #

Frw ik

IR 7

TTITITR

T R EBE

E Ef%ﬁfis;@% Hf] AR
. 3 e

VU ©200 3. 98% 25. 40m

O 3 720 3 520’®
raEEE ThEES
E%?Eﬁﬁ%ﬁﬁmzﬁﬁﬁ

v & v

YU ©200 3. 98%> 25. 40m
3720 J 620
LREES THEES

R &8 B &

EiiE B BUEILE BIEH

N v
|—0 ©150 2.76 13.59




